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HE XA S| AR(A EFRRY 0.36 0.01 0.36 0.01

UHEALE 22| 2] AL 0.18 0.00 0.18 0.00
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7|EtH| & T2 0.04 0.00 0.04 0.00
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THOf 2| AL 0.01 0.01 0.0 0.01
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7|EtH| & T2 0.00 0.00 0.00 0.00

ojof ChOiOH, SH+& 0.24 0.29 0.21 0.24
= ZAENEE S

fjH Mb|A~ 242 0.07 0.09 0.06 0.07

TTE s 031 037 0.27 0.31

SHHEUN 0.31 037 0.26 0.30

K2 At 0.16 0.02 017 0.02

THOR 2| A 0.18 0.03 0.18 0.03

HE XY AR 2HS| ARA EFR R 0.05 0.01 0.05 0.01

AHEALE 22| 2 AL 0.02 0.00 0.02 0.00

23 0.41 0.06 042 0.06

7|EtH| & T2 0.01 0.00 0.01 0.00

ojof ChOioH, SH+& 1.86 0.29 1.60 0.24
= ZANEHEE S

fjH Mb|A~ 242 0.56 0.09 0.46 0.07

e st 2.41 037 2.06 0.31

SHHEN 2.40 037 2.04 0.30
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23 0.07 0.05 0.07 0.05

7|EtH| & T2 0.00 0.00 0.00 0.00

ojof ChOioH, SH+& 042 0.29 0.36 0.24
ZAENEE S
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e st 0.54 037 0.46 0.31

SHHEN 0.54 037 0.46 0.30
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X BXFHO| 42 DHEOA LSt H&S ANHHETL XX|ShE HEHE QRS Hitst =X L|C}
p SH, HEHE
FH =, H8H| £ Sl EXIXP7t HEE Soff £ ET H4o H{E2 58 HE &=Xtit |PTtlo cft H|Z22 &ol & = ASLICE
(THR: Skt %)
2 EH4HEHgA) ™ ojof-S 7l 4=4=2H|2(8) T SHAH|(A+B)
LEAZSEHE\IZENSEH S HEXIAE M| 0.0 1.4998 1.4998
[FAL2E =7 0.0 1.2448 1.2448
/A ™7 0.2484 1.5002 1.7486
= 0.2482 1.2459 1.4941
™7 0.1941 1.5003 1.6944
C/A-e
= 0.1941 1.2412 14353
e/ ™7 0.2582 1.5004 1.7586
= 0.2581 1.2413 1.4994
™7 0.2025 1.5003 1.7028
C/C-e
= 0.2015 1.2459 14474
F ™7 0.1849 1.5003 1.6852
= 0.1849 1.2412 14261
1) TEH|-H|[Z(Total Expense Ratio)0|Zt REE § HEOA SEESl= "E'Qf 7|EHH| 8 WS =X A AEHTUMEHE ANUAH 7|F)2CR L HIEENM off
g 2877t & FEARZL £ET & B HEFFES LIEFRLICE
2) IjOf- B/ =2 H[ZO0|2 Ij0f- 574 =+8E =AM AEBTH(EH|E AW 7|F)CE Lhs HEEN silY 287(7t & FEXX7F Rebst OS82 =&
2 LtEFHLICE
7. EXHXHAOHOHLY
ojof =4 7 FME 5o X2 327 o™ E 0] EE Soll 7| X =2 327] Setof s METF 3T FAAHo| HIZE B0l & & US
Lict. ﬂHﬂHszI ._'§0| =2 A2 oA 2 0.1%H2l) U SHAHYM (I EA| 0.3%) LMoz MN| EX[XI7} HEFSHA| £|l&= HEQ| H|0| S71&L| Ct
> HOHFEATHE B BT e (SH91: kel %)
REUAESREVIEETSATHEXLME[FA] 28
Of = o= ooy x e *
=g =% = =% Sfiet7|zt iz At
470,448 8,498 497,138 8,857 153.67 623.22
F) oie 287(7t T =3 FATHo| A O 8T 287(7H T 2% FAO| Bt oR LHe HIE
> 22 387| FA OjUjEHE 0| (EF¥1: %)
REUAESREVIEETSATHEXLME A 28
2022-08-30 ~ 2022-11-29 2022-11-30 ~ 2023-02-28 2023-03-01 ~ 2023-05-29
177.73 182.61 153.67
8
> FAES (EH21:Z, %)
EXo Y M ERT| T s EXCHA M EXSH HRHE
SR 7Y RS HRE) (=B/A*100(%))
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